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Directione: Complete the proofs below by giving the missing statements and reasons.

@ Given: £PQRis aright angle

Prove: £PQS and £SQOR are complementary

ja

© Given: £2=,3; 21 and 22 form a linear pair

Prove: 1 and £3 are supplementary

Q R
Statements Reasons
1. ZPQRis a right angle 1. g\ ven
2. msPQR = 90° 2.066. of viow' angle
3. mLPQOS + m£SOR = m£POR < B m.( Md"ho"\ 'P%’m\&k
4. m£PQS + mSOR = 90° 4. gubshivhion
5. £PQS and £SOR are complementary B de.(.‘ o.f CDMdem'\"'W‘-I
J

N/

Statements Reasons
1. £2=/3 (5\ ven
2. m£2=ms3 2, de-r oe conayvenL
3. £1 and £2 form a linear pair 3. Q\ Nen -
4. 1 and £2 are supplementary 4. b oy Ogliv D¢5+u late
5. mZl+mz2 = 180° 5. dof. of eogg\'emm*am
6. ms1 +ms3 = 180° 6. Subst Autdon N
7. 21 and £3 are supplementary 7. dd Q") SUFD"Q m+a ,:_5
Given: /1 and £2 form a right angle; mZ1 + m£3 = 90° ) N
Prove: /2 = /3 3
Statements Reasons
1. 71 and £2 form a right angle 1. qi\ltﬂ
2. mZl + ms2 =90° 2. ae(. 0? vlqh:\- anqh
3. /1 and £2 are complementary 3. (L@F of Oomph.' mentarny
4. msl +ms3 =90° 4. q“’{n ' ’
5. £1and £3 are complementary 5. d(.F & com pllrngn-‘-aﬁ.'
6. £2=/3 6. OOﬂCIWCn"' a)mg emunts Hheore

fr

Scanned with CamScanner



